1. Circle the correct answer.

1) Why does the author refer to brain as the ‘control centre’?
a) Because it is at the centre of the body.
b) Because the body controls it.
¢) Because it controls the body.

d) Because it works the hardest.

2) What did scientist learn during the First World War.
a) They learnt how to memorise maps for war.
b) They learnt the soldiers’ functions by studying their brains.
¢) They learnt about the brain from soldiers with brain injuries.

d) They learnt how brain injuries occur.

3) According to Paragraph 3, what can our brains do with bits of information?
a) Take them in, change them and store them
b) Make them up, store them and change them
¢) Store them, retrieve them and change them

d) Take them, store them and retrieve them

4) Which sentence is NOT supported by the text?
a) Injured brains can have trouble with short-term or long-term memory.
b) Injured brains more often have problems with short-term memory.
c) If short-term memory is affected, long-term memory will also be affected.

d) If long-term memory is affected, short-term memory will also be affected.



